
Asparagus
Complete the crossword puzzle below
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1. There is 2.2g of _______ in one cup of
asparagus (protein)
2. The asparagus plant consists of three key
parts: ferns, ______, and roots. (crown)
3. Asparagus is a part of the _________
Family. (asparagaceae)
5. Asparagus needs at least ________ hours of
sun per day. (eight)
10. There is ______ mg of sodium in one cup
of asparagus. (two)

Across
4. Asparagus is a _______ crop. (perennial)
6. Asparagus is planted in spring using ___-
year-old crowns from garden suppliers. (one)
7. Asparagus is a part of the _________ Order.
(asparagales)
8. Growing a healthy crop of ferns is crucial to
ensure a strong ______ harvest the following
spring. (spear)
9. The crown and root system can grow to an
enormous size: 5 to 6 feet in ______.
(diameter)
10. There are approximately ______ calories in
one cup of asparagus. (twenty)
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